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Final Exam Review

. hapter 6
In 1 -3, solve the triangle for all angles and sides. I two solutions exist, find both,
g 1, ¢=13,b=8, B=31° 0 A=55°b=12,c=7 (3, A=33°,B=70°,b=17
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: In 4 -5, find the area of the triangle to the nearest tenth.,
23 24 4, A=52°b=14dm,c=21m
y A0 31
{ /
Tem, b=8cm,c=9cm
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Chapter 9
In 6 ~ 8, write the equation in standard form and then classify the graph as a parabola, circle, ellipse, or
6x +16y +21 = —4y* 8, y> —6y—-4x+21=0

hyperbola.
~vie 6 x* 4yt =b6x+4y+9=0 5x
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9. Find the vertex, axis of symmetry, focus, and directrix of ﬂ@‘d sketch its graph.

A [x+;-]z ~4(y-1)
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10. Identify the conic as a circle or ellipse. Then find the center and radius (if it's a circle); find the center,
vertices, co-vertices, and foci (if it’s an ellipse). Sketch its graph.
(1 9x? +4y? +36x-24y+36=0
A O y=- ﬁﬂ‘ %—”?
@\IPJ Tl s an e )£ Wy =y 3706 f\
i DY e 3
, 7 (x+2)* ¢ 7(y-3) " ,b,g,("
EEERERER (xr2)* ) _(Eff"gj - % 1
% 7 v

(ﬁ%—/“?"‘"—’" | (‘/a.f j) er ° % 2.
E/g,,»ﬂ_.f_.‘ = JJ) :’-i,;;/ ff % é("__z'b /:’4'[—5

: : s e Wl R CLY (2,3), =y A4 =
11. Find the center, vertices, foci, lines containing the axes, and the equations of the asymptotes of the

and then sketch its graph.
x*-9y?+36y-72=0

Lerier (0,7 j

_ {:;P b= ; = " =N - '-_.-'.. -*-“’I_/ = -{?-(:. -'-—? =
o=, e , ey )
6:'__2_:";"———'” )(L"?()/",Z)i 2 3(9
. . £ = 2/i0 2 / _2)2

_— 2 4 _>(__ — (:Z:.--— s f.
p: Verticer b 4
5 L 2) y ‘f:_?\ﬁ_/
3 (-¢,2), (¢ Johips OO

X =0

Focs : (T 210, &) o J90E X -
/’DCJ ) C"’v:,‘ J’ '+"L'x
Symplotesr: Y=Z 3
12. Write the equation of a circle that has a center at (-1, 3) and paﬂas’tluwg{ e point (-5, 6).

raolivs = Af(~1#5) ¥ (3-0)" = A1+ T =V¥25 =5

fﬂf PR & .78 .
| (#ld" 2Ly=0) L2 |
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1 13 - 15, evaluate each expression WITHOUT A CALCULATOR.

i
13.% = 26 o 14. Ine*® :54\, 15. log,320-log,5
€4 /& _i‘z_? =/ ,r@‘/"-’j
/Gy-f 5 e
2]
2 16. Use the change of base formula to evaluate: logg7 /09 7 o/ /_éy\..____?_ =/ ZO?
SE a‘dj5
17. Use log, 2 ~0.4307 and log, 3 ~ 0.6826 to rewrite and evaluate lng,ﬂ@( Y347 ) + 0,682 6
J , . - - ; + U,
lU /ija‘(zﬁ.g): fﬂﬂ@za* /*-*ﬁ._._g - j/gﬁﬂiq—f’ﬂﬁﬁj—r ZJ w
i I3g 3,2\~ %
& 18. Use the properties of logarithms to expand: In =z /é-)-,& (X y ) e /ﬁ*ﬂ- X Y =
N e
v %/g_/\)(-r /ﬂvx Y '-/&L Z

- 19. Use the properties of logaf{ifm;i&_épc_ﬁres%'the following expression as a single logarithm:

|I —_—

In 20 — 22, solve each equation algebraically. When necessary, round your result to the nearest

:’ thousandth. _
{ 20,37 -5=9 - 'Xaﬁf“f_.i 21. 3+log,3x=5 22. log(x) +log(x - 21) = 2
3-"’4‘ = /4 "‘J:}' . J03, 35 = 2 /uf; X(x-21)=2
oz 28 ¥
2x -s-/ggsj‘/ X / / ‘__’:’_ = O . /g"- )(2’..2!'}( 4
,{/_’/'3;5 o X2 x —~foo =0 @
= /0 X - > ”
95 /4 s (X25 X xe¥) =0 +

The number of bacteria present in culture N(f) at time  hours is given by N(f) = 3000(2)".
- What is the initial population? 3 OO0

ch bactera are present after 24 hows? 1/ 7./ 3000(2°") = 50555 50"

e population to triple in size?

(Z'ﬁ) /aﬁi Z é< /ﬁﬁ_}f
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24. The number of students infected with flu after f days at Washington High School is modeled by the

following function: P(r)= _lﬁﬂl_)T_ :

1+99¢ ¥ o, 16 0% -

a. What was the initial number of infected students? ¢, ) = — L — ’3
/@. S A e -"-'ﬂ) J+17 - /OF
b. After 5 days, how many students will be infected? A ) Jo
7 f s _ vy D7 !
/f// ‘f? SfvAde T 277 1r9Ge

¢. What is the maximum number of students that will be infected?
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Test Points:

Scanned by CamScanner



9

f(x) = 2% +10x

% T=3x43

+12

A=y
— TN
/‘/ . A : }/ =
Asymprotes:
VA x23
X-int (s):
y-int:
hole(s):
Test Points:
2~ _6 i AR LT
27. =L - LA WA F~)
7) x+1 - e
Higher Degree i
N/D? N > L)
VA X=-
Asymptotes: g__"”' ,é) "J_rf"-: k7
LS
x-int (5): (..Z, 0), (-2,0)
y-int: / O} -2 )
hole(s): 21) Vel
fix)
ysf Points:

:2("’(*'5%' i
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In 28 - 29, find the partial fraction decumpos:tmn of each. |

28, -5;“4 -SX+ 4 / e LI .
S ‘ch——r) - —}_ T +6x+9 (x +5)L ff;
A L _ —_6')(1“1’
= T i X(x =) Xﬂ*j (7(+:J
" = -5x+Y - = 3
A £ o dixs 3 b T
Ax /1 +/4% = T o o Xj: _7}(_,/5

g = N 1) § e

Sequences and Series

In 30 - 31, write the explicit formula for each sequence.
30.-3,-6,-12,-24, 48, 31. -4,-14,-24, M,Jﬂ7
|An=-3-2"", 2] [Gn==d-10G" D

32. Find “n” if you know that S = 59,046 in the series 6 + 18 + 54+ 162...
L ¥ 9=n

al 3 (0 2) /?‘C'J?.b jr? ('*--.

33. E 20- 2

e $0-7) 2 20,4 15101309 403 -G3) a-
12 /2"

34, Evaluate(?’J = P B 7‘,,3:,

In 35 - 36, find each term described.

35. 2 term in expansion of (x + 3y 36. 4" term in expansion of (3u — 1)

'_:/ CS)(Q (g) f:i ."I; : f_ju) ( li)

' '5 g o
=X @ 2 = i 2wt
=7 o/ - ‘
b=(- /20
In 37 - 38, expand completely.
37. 2y- x)

[_;\/ EZﬁX"L‘ZL/j X "fg)’ +x] r “9%"] x+5’é{jy ' 27% €

33 2y +3x)°
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